100kg

89

PRTR

3,096

9,611




10,000 ;
¢
1,000 . *
L. *
> 1 . o *
= | T
100 i N
' *
! *
H *
10 E ¢
21!
1 —
10 100 1,000 10,000
1,000,000 :
A ]
100,000 |- i . R
| .,
' . . .
10,000 e R .
> RN
= ¢ ;o ‘i”o:b % 4 . . ¢
1,000 Sewes B o,
;‘" ot e st o8
! * ::' * .".: o“ ¢
100 S S
MR
AR
* o: . . R
10 RS
*
1 | e
1 10 100 1,000 10,000
1,000,000
100,000
10,000
~
=4
1,000 ¢
100
10
1
1 10 100 1,000 10,000

0Okg

(kg/

(kg/

(kg/

10,000

1,000

100

10

100,000

10,000

1,000

100

10

10,000

1,000

100

10

L 2 4

*

S P —

)
=

=
o

100 1,000

10,000

*e 0

10

100

1,000

100 1,000

10,000



21

23%

21
(/)
21
21 21
(a) (b) (C):(a)+(b) = a /(C)
1,310 4,704 6,014 22%
236 442 678 35%
- 1 1 0%
1,546 5,147 6,693 23%

16




21

1Y 21
21 21 |z 21
(@) (b) =(a)/ (a)+(b)

1200 2 12 - 61 0
1600 5 4 183 81 69%
1700 7 5 26 17 600
1900 128 97 387 1,796 180
2000 59 72 49 362 120
2200 12 11 37 82 310
2300 5 5 7 47 13)
2400 5 3 2 45 5t
2500 19 11 3 62 2%
2600 2 9 - 72 0%
2700 17 11 4 16 100
2800 442 75 555 616 A7%
2900 12 19 15 116 110
3000 15 69 7 240 3
3100 4 26 1 1,035 0.1%
3200 16 19 10 39 200
3400 14 8 22 12 65%
3900 - 3 - 5 0%
4400 2 4 10 14 1%
5132 6 1 5 2 720
5930 1,188 93 66 2 97H
7200 213 16 115 47 710
7430 - 3 - 15 0%
7700 47 58 34 119 220
7810 2 9 5 82 6%
8800 - 31 - 18 0%
9100 - 47 - 78 0%
9210 1 34 0.4 51 10
20 93 3 15 104

2246 850 1.546 5.147 230

5t

16




21

v 21
21 21
21 21 =(a)/ (a)+(b)
@ (b)
2 23 165 12 88 12%
4 131 220 120 905 12%
8 230 193 0.2 10 2%
11 1,386 346 143 519 22%
15 2 58 0 15 1%
16 88 181 69 726 9%
17 65 103 27 140 16%
19 1 27 1 7 13%
26 53 124 259 425 38%
28 2 3 10 14 41%
29 172 98 0.6 3] 10%
31 5 12 2 9 18%
35 213 25 123 127 49%
38 136 44 283 357 44%
39 1,445 379 394 1,025 28%
49 10 87 2 89 3%
50 1,186 123 9 2 86%
51 10 37 0.2 12 1%
53 84 228 56 398 12%
54 33 80 9 94 9%
55 30 86 22 172 11%
1,066 621 3 9 27%
6,371 3,240 1,546 5,147 23%
16
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1t
1t

%

1t
(v )
1t
1t 1t
(a) (b) (C):(a)+(b) = a /(C)
316 5,698 6,014 5%
148 530 678 22%
0.001 1 1 0.2%
464 6,229 6,693 %

16




1t

1t
1t 1t
It 1t (@) b @7 @+0b)

1200 20 25 1 59 o0
1400 2 4 0.2 5 4
1600 10 8 3 261 1%
1700 34 11 14 30 31%
1900 257 209 82 2.100 4
2000 235] 417 7 404 2%
2200 37 31 9 110 i
2300 19 12 6 48 10%
2400 16 9 5 43 11%
2500 23 35 2 62 4%
2600 16 30 4 68 Bl
2700 26 40 1 18 i
2800 1,321 824 104 1,068 o
2900 61 33 16 114 1%
3000 154 154 25 222 10%
3100 71 82 19 1018 2
3200 61 19 12 38 24%
3400 28 17 5 29 1%
3900 9 5 2 4 35%
4400 3 o 0.002 24 0.01%
5132 - 5| - 7 O
5930 99| 3,722 0.3 67 0.5%
7200 196 36 42 120 26%
7430 2 6| - 15 Ot
7700 287 60 72 81 4%
7810 43 27 12 74 14%
8300 67 16 6 12 32%
9100 146 98 5 73 Bl
9210 116 68 4 48 i
100 121 6 7 46%

3468 6.143 264 6,229 7h

5t

16




1t

v/ 1t
It It
S (a) ) | =@/ @+b)
2 17 71 i 86 120
4 184 167 18 976 5%
8 188 235|  0.03 10 0.3%
11 201 1,441 74 588 115
15 39 21 3 12 19%
16 172 o7 35 760 4%
17 114 54 29 138 174
19 22 6 3 5 40%
26 o4 83 22 661 3
28 5 5| - 24 Ol
29 144 126 0.2 6 3
31 6 11 1 10 104
35 199 39 44 206 184
38 67 113 21 619 %
39 310, 1,514 05| 1,324 7
49 66 31 6 85 7
50 101 1,08 1 9 134
51 271 20 1 11 10%
53 180 132 28 426 6%
54 76, 37 18 85 175
55 63 53 14 179 7
1,008 679 5 7 40%
3.468] 6,143 264 6.229 7
16
1t 0.5t
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